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Time : 3Hrs. Sem. I/11

Engg. Drg.

Full Marks : 70
Pass Marks : 28
Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Four questions from Group B, each question
carries 5§ marks.

Ju-B @ @t aR g & SR <, uQAS U & 9H 5B 2 |

Answer all Three questions from Group C, each question

carries 10 marks.

7u-C 4 wft 9yl & SR <, 9AS 9% &1 44 10352 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |

P.T.O



PR3

| el e
Rad 23R 2 kik ‘el @ hEh b Ry
B3 12 I}t ADBIBIER & BD b8 RMed| 3k
lled 2 Pley] kr PP I0R|[3 2h dkd] ¢ &
Mblle 2R @ WW (G 51kt RIRIS Ale WW T
Rls}] ®h 1@ MBle ¢ Shidh) 8hok @b

"0S[e MIIA JpIS pue suonddfoid

SI MeI d'A Oy 03 [o[[eted pue ‘J H Yy ur aseq s)
JO sa3pa ay3 JO duo uo Junsar st 3uo| W ()G SIXE
pue opIs ww 7 dseq Yim prweldd [euogexay y

(lprRR)IO

| elg hizb) 1d hofy 12 198 ah
SV B RDRDD BIe 1eRS @] 2 Dl AMeh
B2 b BD DD Ah RGO MPIDIRIE B)

khie 3R 3 WWCS 3btR [P BIE lkb WWCT
RMbg] 1d MBlle $ hof] Mdblnkbh db

SOTC091d/S0TT091/S0TT091 61 CI0TILN

07=0TX1
3uIMO[[0] oY) WO} JOMSUE S[qBIINS }SOW J} 9S00

asayy Jo duoN (p)
a1oyds oy Jo 1910wreIp

on 9y} UBY) dIOW IdJdWERIp Jo d1dyds v ()
a1oyds a3 Jo 193owRIp

on) Ay} UBY) SSI[ JAAWERIP JO I Y (q)
a1oyds a3 Jo 193owRIp

ony a3 03 [enba 1a30wWeIp JO 910110 Y (B)

:9q 1M 219yds e Jo uonodaford orgowiosy

U BeRhe (2)

1Ly (1)

LR (5)

Bz ()

—lr2 Bl DYYIA b 2 1Dl Ikikh
ble} ® Rk R @ PbBIE &) bin

aa0qe 3 Jo N1V (p)

a1oydsg (9)

Topur£) (q)

ouo (e)

19 [[1M PAIRISUAS PI[OS JJOWRIP

S11 IN0Qe Paje)ol ST JJIIIO WIS B UIYA\

()

0]

0]

D BR] 2bbE b hokb| DbRhe ®Ryylbh

vd4dnouon

: suondo

CI0CILN 4 SOIT091d/S0TI091/SOTT091



1602105/1601205/P1602105 18

NT12012 NT12012

U e oD AR &T A 50 mm AT (ii)
& P IS 60 mm B, AU IATER R Gfdas

dd IR Red 21 U del Sl S&¥ dd &

ad @ a afas 9 9 45" R I@ed 2,

Td Bl SED MR ¥ 40 mm HU Hledl

2| 2@ & Ured Hasl &1 faera €4 |

OR (31214T) (iii)

A cylinder of base 50 mm in diameter and axis
70 mm long is lying on H.P. Draw its isometric
projection when axis is horizontal.
(i)
50mm ATH D AR TG 70 mm ofF Sl
gfast el W IafRkerd € | o9 & dfas sl

dal saaT Agaifes ey <fia |

(iv)

Draw the projection of a pentagonal prism with base
25mm side and axis 55mm long, resting on one of
its rectangular faces in the H.P. with its axis inclined
at 45° to the V.P. 10

3 1602105/1601205/P1602105

foft M &1 srzAAfe S fagdy -

@) M & IAfId AN D IER
AT $T gd

(@) T ® aRafdd AN 9 HF A
@I qd

(&) Mol & Idafas @ A SGI&T
AT BT AT

(%) SWidd & 4 &I ]

Oblique plane is a plane which is:

(a) Inclined to both H.P. and V.P.

(b) Inclined to H.P. and Perpendicular to V.P.
(c) Perpendicular to both H.P. and V.P.

(d) Same as profile plane.

Jffedtd del Tdh dal & oli—

(3) H.P.wd V.P. ]I ¥ [T slaT @

(@) HP. ¥ F®T ¢d V.P. & oi9gad gIdr 8
(9) HP.Td VP <9l & or9dd

(<) MBIz dd & A BIdT &

Isometric length of a line is:

(a) V3/\2 x times of true length
(b) 2/73 x true length

(c) 0.815 x true length

(d) Same of true length

P.T.O
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OR(3721dT)

Draw isometric view of a block of length 60 mm,
width 40mm and height 25 mm.

UP sclld forgd! o &ls 60 mm, dlsTs 40 mm
Uqd $dlg 25 mm S dgEIAfeH g3 Eid |

GROUPC

Answer all Three Questions.

it 9 gl & Sax

6.

10x3=30

A triangular prism of base 40 mm side and axis 60
mm long is resting in H.P. on one of its rectangular
faces with the axis inclined at 30°to the V.P. It is cut
by a horizontal plane at a distance 10 mm above

the H.P. Draw its elevation and sectional plan. 10

NT12012

(vi)

(vii)

(vii)

(viii)

5 1602105/1601205/P1602105

fodl vig &1 98 TS Wl 9D A B
oFedd dd gRT ®Iel ™7 81 dl, 81
(31) drefga

(9) uxacra

(W) qa

(?) SwIigd o & &Ig T8

Which is used in a sheet metal foundary shop?
(a) Section of solids

(b) Rotation of solids

(c) Development of surfaces of a solid

(d) None of these

e Acd wre~g!l o9 § feasr SuAiT
fear srar 27?2

(31) s @sd &I

(@) oI & gHId &1

(W) oI @ dasl & fasr™ &1

(]) 3% | HIg T8

A square prism has .................. edges.
(a) Twelve

(b) Eight

(c) Four

(d) None of these

P.T.O
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Draw the projection of a pentagonal pyramid base (x)
with 30mm side and 50 mm long resting in H.P. on
its base with one edge of the base perpendicular to

the V.P.
5

TP yaqs fRifs & g&ul & 9] e
MR BT Uh fHIRT 30mm 3R A& DY I8
50 mm & AR o &faor g 9 3+ MR W
39 UPR 8 fb SUD AR &1 U fbarT
IS dd © o Edd @ |

(xi)

OR (312rdn) xi)

A cone diameter of base 45 mm and axis 50 mm
long is resting on its base on H.P. it is cut by a
section plane perpendicular to axis of the cone,
bisecting the axis. Draw sectional plan of the cone.
(xii)
45 mm AT BT MR TG 50 mm Hd A& BT
TS T 8 | TP BT AER S dd R 2|
I dd © oaad g H wafgyifod fea
T 2| ud, &1 Efsa argfasy EfiT |
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e fodl aualivr s &1 s Sl
U ofread oIl dI frd gamn ar @
al U= 3dfa @ Bfi?

(31) agHeID

@) g

(@) 9@+

(g) et

What are the shapes of all vertical faces of a
right and regular triangular pyramid?

(a) Rectangles

(b) Right angle triangles

(c) Isosceles triangles

(d) None of these

frrafia Pygeer fRifis @1 9+ Sqg
adsl &1 rHfa Far g 87

(1) maa

@) DT By«

(o) wfgarg B

(%) 399 & dIs T8l

A square pyramid is placed on the H.P, then
elevation will be of ................. shape.

(a) Square

(b) Rectangle

(c) Triangular

(d) All of above

P.T.O



O'Ld

I el
Bl D32 Phh 14 Db blls & Mbh dd

"JJ0q uonepunoj jo ad£) auo Jo puey 931J YIS

(Ipreie) O
MIIA“HT UONEAY
Kk—Oor—t K 0S >
N
S1 I
k— 0T —3
0¢g
A\
K— 0T —>
| el

hipp|bie W2 prir hizbilie Bah 2 1B 1RY)
Rad Dale BBh IRIP b h3B|S 1¢ Dib @

MIIA T T uoneAdlq
Kk—Oor — K 0S >
N
S1 I
k— 07 —
(3
W
Kk— 0T —>
SOIZ09Td/SOTI091/S0TT09T €1 TI0ZLIN

aA0qe 3y Jo 1V (P)

uonddloid jo suepd ayp 03 remorpuadiog (9)
IO yoed 03 [o[1ered (q)

s302[qo o Jo spu y3noayy 3uissed ()

Q1

s10399(oxd atp [[e ‘vondafoxd syder3ouyyio uy

Bk Bl R bk (2)

loh2h klal® hich (k)

lohigh Riald RPD (k)

lahighi klale B (i)

¢ 1@ blyple RD lohigh BIp

® @BRL) bh Bib b lohih klald Bl

asa Jo duoN (p)

uonoaloid jo g[3ue isuq (9)

uondafoxd yo o13ue payp (q)

uonoafoid jo o[3ue o, ()

(JOAIISqO

oy pue 103[qo oy usamiaq sary uondofoxd
Jo auerd ‘vonoafoid jo d[3ue yorym ug

LR DbRhe (D)
Aaliohi] (k)

CIOCLLN 8

(A1)

(1m1x)

((2159)

(1x)

SOIT091d/S0TT091/SOTT091



1602105/1601205/P1602105 12 NT12012

xx) <l mgaiife®s e & S o1 HIoT
Bl 3—
(31) 120°
3) 180°
(&) 90’
(|) 30°

GROUPB

Answer all Four Questions.

Il IR gl @ SR < |

2. The elevation and left side end view of an object

5x4=20

are given in fig. but plan is missing. Draw the plan.
5

NT12012

(xiv)

(xv)

(xv)

(xvi)
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anefuhe fagty & Wl ygus = 2
@) a¥g @ fHIRI ¥ BH Wl 2

(@) t& g & TR

() 989 daf R o Ead

(%) Suxraa a+H

A regular cube has:

(a) Twelve equal square surfaces

(b) Two square and ten rectangular surfaces
(c) Six equal square surfaces

(d) None of these

v frafia g9 9 ghar 2—
(31) 9RE SR T

(@) < o 3R <9 AId
(d) ©: SER i

@) ¥ 4 B 7TE

Snap head rivet can also be terned as:
(a) Button head

(b) Round head

(c) Both (a) and (b)

(d) None of these

P.T.O



O'L'd

,0¢ ()
06 (9)
081 (9)

,0T1 (®)
ES! S!X‘B O!llQIIIOS! om] UQQAAJ,QC[ 9[8[1‘8 9[{_L

B Dbdhe (b)

bBRbR (B)

22493 (b)

h2yds (k)

—§ pE® P Lll

Rix D 2 IDUS 1RD| 122 | Itk [phD
Ale 2 IbUs R1e B L1 A8 oB
B dhle & Dl Ik Sy fae) 2k

aroqe Y1 Jo [1v (p)
uonaag (o)

poreouni. (q)

wnysniy (&)

:S)1 pI[[ed st uonzod

doy oy) Surrowar pue aseq 9y} 03 paurjoul
oue[d ® £q 109 ST U0 10 prwrelAd B USYA\

1Bk Bl B kb3 (2)

Rldb] 1b 123DR (B)

hizp) edqyitlslle (b)

hizp) @33l (i)

—2 pae po 3

Plio (2lad b kk| 12 ®d Alkeb] [P

(xx%)

(x1%)

(x1%)

Blo® Al BIS(k BB b hizk] i) (1)

SOIT091d/SOTI09T/SOTT091T I

CIOCILN

953y} Jo duoN (p)
saoepns Jo juawdoaad( (9)

uondafoad oryder3oyip (q)

uonoafoid ornowosy (&)

“PA[[BD SI 2IN3Y dwes

Ul uMoys dIe Y31y pue yipeaiq ‘qi3ud]

SUOISUIWIP I} [[& Yorym ur uonddford ayy, (max)

a (2)
Babie (B)
e (b)
L (k)

—& P12 I3k 1P ok i Dl IRhe] (1)

XIS (p)
Aruguy (0)
moy (q)
om, ()

:SI OUO0D © UI SI0JBIOUT JO JoquInu oY  (11ax)

1Bk 3o R k3 (2)
e (8) 2y () (n)
223 s=al (b)
223 bob (k)

~2 1blin 136 Y L& 24y 52 hid

CI0CILN (1]

(1a%)

SOIT091d/S0TT091/SOTT091



	1: 20 - 1
	2: 2-19
	3: 18-3
	4: 4-17
	5: 16-5
	6: 6-15
	7: 14-7
	8: 8-13
	9: 12-9
	10: 10-11

